
 Problema : 

 

 

 

 

 

 

 



 

 

 

Se da :                                                                     

n = 5286 

a =20 cm 

b =20cm 

c =40 cm 

V - ? 

 

                               Rezolvare : 

 

Volumul cubului = a*b*c = 16000 (cm^3) 



 

Volumul zidului = V cubului *n=84576000(cm^3) 

 

V2 …………….100% 

X   ……………..12%     

                          

                    X = (112% *84576000) /100% =  

= 94725120 (cm ^3) = 94,72512 (m3)=  =95(m3) 

 

                   

 

                          Raspuns : 
 

     Volumul zidului construit e = 95(m3) 

 

 

 



 

 



          

  

 

 

   

                                                                                                                                                                                                                                                                                                                                                                                                                   


